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Convert each of the following angles from radians to degrees.
a) Zradians b) 2fradians c¢) wradians d) I radians
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e) 5 radians @9) T radians  h) % radians
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Convert each of the following angles from degrees to radians giving your answer to 2
decimal places.
a) 17° b) 49° c¢) 124° d) 200°
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Convert each of the following angles from radians to degrees, giving your answer to 1
decimal place.
a) 0.6radians b) 2.1 radians c) 3.14 radians d) 1 radian
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Coterminal Angles

When you sketch an angle of 60° and an angle of 420° in standard
position, the terminal arms coincide. These are coterminal angles.

VA coterminal angles

» angles in standard

position with the same 1"-_,_3 60\

\60° terminal arms
|/ ‘E * may be measured in
420° degrees or radians
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\wltp \ 4 are 40° and —320°

Strategy for finding coterminal angles in either radians or degrees?
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For each angle in standard position, determine one positive and
one negative angle measure that is coterminal with it.
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Test Discussion...
Average = 72%
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Determine a negative angle co-terminal with each

of the following angles: o |
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